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PN E=d A =
. AHISEE wiFD4$F | e
= &t & WImTE%| 35ME e 3HMHIER
(A) (B)  |(C)=(A)+(B) (D)  |(E)=( ©)-(D)|(E)/(D)
—R%=E 11,871,025 A 316,436 11,554,589( 10,801,497 753,092 7.0
RFSEERNEIREESHERISE 41,965 A 12,659 29,306 23,333 5,973 25.6
EREREMBEESIR| 2,123,680 | A 94,161| 2,029,528 2,167,868| A 138,340| /6.4
BEEREERRRE SRS 262,936 N 1,774 261,162 259,771 1,391 0.5
NERIRBERSRISET 2,891,390 A 55,973 2,835,417| 2,828,403 7,014 0.2
NEIRR Y — EXBERRISE 13,962 A\ 389 13,573 13,742 AN 169 A 1.2
® Hi 17,204,967 A 481,392(16,723,575 16,094,614 628,961 3.9
A\ E=d A =
2 3 % THISEE PHAER | e |
WP B8] 397iE =t 3RMER
RFHKESEHESET (A) (B) ( C)=(A)+(B) (D) (E)=( CO)-(D)|(E)/(D)
YN 445,270 N17,688 427,582 436,472 A8,890 | A2.0
INZSHIIN S
T 427,418 N26,133 401,285 393,908 7,377 1.9
YN 520,541 255,800 776,341 438,854 337,487 76.9
EARMIUINE
T 599,152 335,000 934,152 465,167 468,985 | 100.8
AN = A\ =
2 5 % _ il _ PHAFE | v | e
WInTE%| 3HME en 3EWIE%
ATH T KEREAL (A) B)  |(O)=(A)+(@B) (D)  |(E)=( ©)-(D)|(E)/(D)
YN 279,528 N24,583 254,945 299,013 N44,068 |A 14.7
INZSHIUN S
fdun] 279,528 AN24,583 254,945 299,013 N44,068 |A 14.7
YN 205,769 N26,135 179,634 147,517 32,117 21.8
EARBIINE
fdun] 256,622 N22,450 234,172 203,977 30,195 14.8




